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1. The more power consuming fan is  
AvP ªß ~PºÄ PõØÓõi Gx? 

(A) Forced Draught Fan  
 Pmhõ¯ PõØ÷Óõmh PõØÓõi 

(B) Gas Recirculation Fan 

 G›Áõ² ©Ö _ÇØ] PõØÓõi 

(C) Primary Air Fan  
 •ußø© PõØÖ PõØÓõi 

(D) Induced Draught Fan 
 ysh¨£mh PõØ÷Óõmh PõØÓõi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. The leakage of air into the boiler is known as 
öPõvP»ÝUSÒ PõØÖ P]Ä __________ GÚ AøÇUP¨£kQÓx 

(A) Air intake (B) Air Leak 

 PõØÖ EmöPõÒÍÀ  PõØÖ  P]Ä 

(C) Air Ingress (D) Flue Ingress 
 PõØÖ ~øÇÄ  L¨Ñ Emö\¾zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. The pressure difference between two points in a boiler due to
elevation difference is defined as  
E¯μ ÷ÁÖ£õk Põμn©õP J¸ öPõvP»ÛÀ Cμsk ¦ÒÎPÐUS Cøh÷¯ 
EÒÍ AÊzu ÷ÁÖ£õk GøÁ GÚ Áøμ¯ÖUP¨£kQÓx? 

(A) Pressure Effect (B) Density Effect 

 AÊzu ÂøÍÄ  Ahºzv ÂøÍÄ 

(C) Stack Effect (D) Temperature Effect 
 ìhõU ÂøÍÄ  öÁ¨£{ø» ÂøÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. In Balanced draught system, the induced draught fan overcomes 
\© {ø» PõØ÷Óõmh Aø©¨¤À, ysh¨£mh ÁøμÄ ªß Â]Ô GuøÚ 
PhUQÓx? 

(A) Resistance in the air pre heater 
 Hº ¨Ÿïmh›À Gvº¨¦ 

(B) Resistance in the chain grate stoker 

 ö\°ß Q÷μm ì÷hõUP›À Gvº¨¦   

(C) Draught losses through boiler 
 öPõvP»ß ‰»® PõØ÷Óõmh CÇ¨¦PÒ   

(D) All the above 
 ÷©÷» EÒÍ AøÚzx®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. The fan located near the base of the chimney is called as 
¦øP÷£õUQ°ß Ai¨£Sv°À Aø©¢xÒÍ ªßÂ]Ô __________ GÚ 
AøÇUP¨£kQÓx 

(A) Forced Draught Fan (B) Induced Draught Fan 

 Pmhõ¯ PõØ÷Óõmh Â]Ô  ysh¨£mh PõØ÷Óõmh Â]Ô

(C) Steam Jet Fan (D) Primary Air Fan 
 }μõÂ öám Â]Ô  •ußø© PõØÖ Â]Ô 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. The formula for mass flow through the chimney is given by 
¦øP÷£õUQ ÁÈ¯õP öÁSáß KmhzvØPõÚ `zvμ® GÆÁõÖ 
PnUQh¨£kQÓx? 

(A) PgVAM ..=  (B) PgVAM ./=   

(C) APgVM /.=  (D) PgVAM .2=   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. Normally the life of Brick (or) Concrete chimney is high as
__________ years 
ö£õxÁõP ö\[PÀ AÀ»x ¦øP÷£õUQ°ß B²Ò Põ»® GzuøÚ 
BskPÒ? 

(A) 20 years (B) 30 years 

 20 BskPÒ  30 BskPÒ 

(C) 40 years (D) 50 years 
 40 BskPÒ  50 BskPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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8. The Pressure difference in the boiler is known as 
öPõvP»Ûß AÊzu ÷ÁÖ£õk Gx __________ GÚ AÔ¯¨£kQÓx 

(A) Air Flow (B) Flue Gas Flow 

 PõØÖ Kmh®  L¨Ñ Áõ² Kmh® 

(C) Mixed Flow (D) Draught 
 P»¨¦ Kmh®  ÁøμÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

9. In coal fired boilers, the pressure draught in passing through fuel
bed does not mainly depends on 
{»UP› G›²® öPõvP»ßPÎÀ, G›ö£õ¸Ò £kUøP ÁÈ¯õP ö\À¾® 
AÊzu ÁøμÄ •UQ¯©õP Gøu \õº¢ux CÀø»? 

(A) Size of the coal  
 {»UP›°ß AÍÄ 

(B) Amount of the coal 

 {»UP› £¯ß£kzu¨£k® AÍÄ 

(C) Calorific value of coal  
 {»UP›°ß P÷»õ›L¤U ©v¨¦ 

(D) Different kind of coal 
 {»UP›°ß ÁøP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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10. Balance Draught is 
\©{ø» PõØ÷Óõmh® Gß£x 

(A) Forced Draught connected with Induced draught 
 Âø\U PõØ÷Óõmhz÷uõk Cøn¢u ysk PõØ÷Óõmh® 

(B) Forced only connected 

 Âø\ PõØ÷Óõmh®   

(C) Induced Draft only connected 
 ysk PõØ÷Óõmh®  

(D) None of these 
 GxÄ® CÀø»   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

11. Throttling calorimeter measures dryness fraction upto 
zμõm¼[ P÷»õ›«mhº ÁÓm] £Svø¯ __________ AÍÄUS AÍÂkQÓx

(A) 0.68 (B) 0.98  

(C) 0.56 (D) 0.76  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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12. How Dryness fraction of steam is defined? 
}μõÂ°ß ÁÓm] ¤ßÚ® GÆÁõÖ Áøμ¯ÖUP¨£kQÓx? 

(A) SteamTotal ofSteam/Mass Dryof Mass – Steam Dry of Mass  

 E»º }μõÂ°ß {øÓ/ö©õzu }μõÂ°ß {øÓ–E»º }μõÂ°ß {øÓ 

(B) urWater VapoofMassSteamDryofSteam/Mass Dry of Mass +   

 E»º  {μõÂ°ß {øÓ/E»º {μõÂ°ß {øÓ+}μõÂ°ß {øÓ   

(C) 
SteamTotalofMass

SteamDryofMass-SteamTotal of Mass
 

 ö©õzu }μõÂ°ß {øÓ – E»º¢u {μõÂ°ß {øÓ/ö©õzu {μõÂ°ß 
{øÓ  

(D) SteamDryofSteam/Mass Wetof Mass  
 Dμ©õÚ {μõÂ°ß {øÓ/E»º¢u {μõÂ°ß {øÓ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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13. Which is the following is incorrect about the steam seperator in a
steam boiler? 
}μõÂ öPõvP»ÛÀ EÒÍ }μõÂ ¤›¨£õß £ØÔ ¤ßÁ¸® AÔUøP Gx 
uÁÓõÚx? 

(A) Steam seperator is provided to collect the water resulting from 
partial condensation of steam  

 }μõÂ°ß £Sv JkUPzvß ÂøÍÁõP }øμ ÷\P›UP }μõÂ ¤›¨£õß 
£¯ß£kQÓx 

(B) Steam seperator is also known as steam drier 

 }μõÂ ¤›¨£õß }μõÂ Fºzv GßÖ® AøÇUP¨£kQÓx   

(C) In the steam seperator, steam is made to change it’s direction 
of flow  

 }μõÂ ¤›¨£õÛÀ, }μõÂ Auß Kmhzvß vø\ø¯ ©õØÖQÓx 

(D) In the steam seperator, water seperates out from steam due to 
it’s greater inertia 

 }μõÂ ¤›¨£õÛÀ AvP ©¢u{ø» Põμn©õP }μõÂ°¼¸¢x uspº 
¤›QÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. The value of quality or dryness fraction of a substance in a saturated
liquid vapour mixture is  
{øÓÄØÓ vμÁ }μõÂ P»øÁ°À EÒÍ J¸ ö£õ¸Îß uμ® AÀ»x ÁÓm] 
£Sv°ß ©v¨¦ GÆÁÍÄ? 

(A) 0 (B) 2 

 0  2 

(C) 1 (D) Between 0 and 1 
 1  0 ©ØÖ® 1 US Cøh°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. Degree of super heated steam 
ªS E»º BÂ°ß `zvμ® 

(A) Degree of super heated steam = (tsnp – twet)  

 ÷Põn ªS E»º BÂ = (tsnp – twet)     

(B) Degree of super heated steam = (tsnp – ts)  
 ÷Põn ªS E»º BÂ = (tsnp – ts) 

(C) Degree of super heated steam = (ts – twet)  
 ÷Põn ªS E»º BÂ = (ts – twet)    

(D) None of these   
 GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. Wet steam is 
Dμ }μõÂ Gß£x 

(A) not mixed with water (B) fully water mixed 

 uspº P»UPõuøÁ  uspº •Êø©¯õÚx 

(C) partially mixed with water (D) none of these  
 £õv AÍÄ uspº  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. One kilogram of water will be increased ––––––––––– times units 
volume at dry steam. 
J¸ Q÷»õ Qμõ® usp›ß PÚ AÍÄ E»º }μõÂ°À CzuøÚ ©h[S 
AvP›US®. 

(A) 1600 times (B) 2500 times 

 1600 ©h[S  2500 ©h[S 

(C) 3000 times (D) 3500 times 
 3000 ©h[S  3500 ©h[S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. The colour of the steam is 
}μõÂ°ß {Ó® CÆÁõÖ C¸US® 

(A) White (B) Light yellow 

 öÁsø©  CÍ ©g\Ò 

(C) Light orange  (D) Colourless  
 CÍ Bμg_  {Ó©ØÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

19. The quality of steam can be find through 
}μõÂ°ß uμzvøÚ Cuß Áõ°»õP AÔ¯»õ® 

(A) Thermometer (B) Nanometer  
 öuº÷©õ«mhº  ÷|÷|õ«mhº 

(C) Calorie meter (D) None of these  
 P÷»õ› «mhº  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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20. Critical temp of water is ––––––––––– °C. 
usp›ß PiÚ öÁ¨£ AÍÄ ––––––––––– °C. 

(A) 375.4 (B) 374.15 

(C) 384.3 (D) 394.3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

21. Typical Ash percentage in Indonesian coal is 
C¢÷uõ÷Úæ¯ß P›°À (coal)–À ÁÇUP©õÚ \õ®£À (Ash) \uÂQu® 
GßÚ? 

(A) 38 – 40 (B) 13 – 14 

(C) 10 – 12 (D) 30 – 35 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. The amount of air required for complete combustion of 1 kg fuel oil
(typical) is? 
1 kg B°À G›ö£õ¸øÍ G›UP ÷uøÁ¨£k® Áõ²Âß AÍÄ GÆÁÍÄ? 

(A) 15.1 kg (B) 10.3 kg 

(C) 13.2 kg (D) 14.1 kg 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. Impact of Moisture in coal, which will happen if moisture is higher? 
öPõvP»ÛÀ £¯ß£kzu¨£k® {»UP›°À AvP©õÚ Dμ¨£u® C¸¢uõÀ 
GÆÁõÖ ÂøÍÄ HØ£k®? 

(A) increases flue gas temperature  

 ¦øP ÷£õUQ°À öÁÎ÷¯Ö®, `hõÚ Áõ² öÁ¨£® AvP©õuÀ  

(B) high air input   
 AvP©õÚ PõØÖ ÷uøÁ¨£kuÀ 

(C) abnormal coal consumption  
 {»UP›°ß ö\»Ä Âzv¯õ\©õSuÀ   

(D) increases heat loss due to evaporation and superheating of 
vapour   

 öÁ¨£ CÇ¨¦ AvP©õSuÀ uspº {μõÂ¯õS® ö£õÊx ©ØÖ® 
{μõÂø¯ AvP `hõUS® ÷£õx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. Which fuel having highest moisture? 
G¢u G›ö£õ¸Ò AvP Dμzußø© öPõskÒÍx? 

(A) Imported coal (B) Saw dust  
 CÓUS©v ö\´¯¨£mh {»UP›  ©μzyÒ 

(C) Lignite  (D) Husk  
 ¼UøÚm (Lignite)  Eª (Husk) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. When the fuel composition is not known, the air fuel ratio can be
calculated by  
G›ö£õ¸Ò P»øÁ öu›¯õu ÷£õx GÆÁõÖ PõØÖ G›ö£õ¸Ò ÂQuzøu 
PnUQh»õ®? 

(A) carbon balance method  

 Põº£ß \©{ø» •øÓ   

(B) carbon – hydrogen balance method  
 Põº£ß–øímμáß \©{ø» •øÓ 

(C) oxygen balance method  
 BUêáß \©{ø» •øÓ 

(D) carbon balance method   
 Põº£ß \©{ø» •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. Moisture content in the lignite is 
¼UømiÀ GzuøÚ \uÂQu® Dμ¨£u® EÒÍx? 

(A) 4% (B) 25% 

(C) 30% (D) 45% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. Slagging is the deposition of 
Slagging Gß£x Guß £iÄ 

(A) Fly Ash (B) Dry Ash 

 £ÓUS® \õ®£À  E»º \õ®£À 

(C) Bottom Ash (D) Water particles  
 RÌ£i²® \õ®£À  }º xÎPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. The Gross calorific value of Lignite is ––––––––––– kcal/kg. 
¼UøÚmiß ö©õzu P÷»õ›L¤U ©v¨¦ ––––––––––. 

(A) 2500 (B) 4500 

(C) 5000 (D) 6000 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. The weight of flue gas is always ———— that of fuel burnt. 
AÚÀ Áõ²Âß Gøh G¨ö£õÊx® G›UP¨£mh G›ö£õ¸Îß GøhUS  

(A) More than (B) Less than 

 AvP®  SøÓÄ 

(C) Equal (D) Approximate equal 
 \©®  ÷uõμõ¯©õÚ \©® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. How much oxygen will be required to burn fully the carbon
consisting of 1 kg? 
J¸ Q÷»õ P›ø¯ •Êø©¯õP G›UP GÆÁÍÄ BUêáß ÷uøÁ¨£kQÓx?

(A) 0.67 kg (B) 1.67 kg 

 0.67 Q÷»õ Qμõ®  1.67 Q÷»õ Qμõ® 

(C) 2.67 kg (D) 3.67 kg 
 2.67 Q÷»õ Qμõ®  3.67 Q÷»õ Qμõ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. Major five important elements of fossil fuels 
¦øu£iÁ G›ö£õ¸mPÎß •UQ¯ I¢x TÖPÒ 

(A) Carbon, Hydrogen, Oxygen, Sulphur and Nitrogen 
 Põº£ß, øímμáß, BUêáß, P¢uP®, ©ØÖ® ø|mμáß  

(B) Calcium, Sodium, Carbon, Oxygen and Nitrogen 

 PõÀ]¯®, ÷\õi¯®, Põº£ß, BUêáß, ©ØÖ® ø|mμáß   

(C) Sodium, Carbon, Oxygen, Sulfur and Nitrogen 
 ÷\õi¯®, Põº£ß, BUêáß, P¢uP®, ©ØÖ® ø|mμáß  

(D) Carbon, Hydrogen, Oxygen, Sulfur and Calcium 
 Põº£ß, øímμáß, BUêáß, P¢uP®, ©ØÖ® PõÀ]¯®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

32. Biomass is produced from solar energy by 
———— ‰»® `›¯ BØÓ¼À C¸¢x E°› EØ£zv ö\´¯¨£kQÓx. 

(A) Respiration (B) Photons 

 _Áõ\®  L÷£õmhõßPÒ 

(C) Photosynthesis (D) Carbon dioxide 
 JÎa÷\ºUøP  Põº£ß øh BUøék 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. LPG is predominant mixture of 
RÌPshÁØÖÒ Cx J¸ GÀ.¤.â °ß •UQ¯ P»øÁ¯õS® 

(A) Methane and propylene (B) Propane and Methane 

 «z÷uß ©ØÖ® ¦÷μõ¤½ß ¦÷μõ÷£ß ©ØÖ® «z÷uß 

(C) Propane and Butane (D) Methane and Ethane 
 ¦÷μõ÷£ß ©ØÖ® ¤³m÷hß  «z÷uß ©ØÖ® Dz÷uß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. The minimum temperature at which a substance will burn is known
as 
J¸ ö£õ¸Ò G›²® SøÓ¢u£m\ öÁ¨£{ø» GÚ AÔ¯¨£kÁx 

(A) Flash point (B) Fire temperature 

 L¤Íõè £õ°sm  w öÁ¨£{ø» 

(C) Ignition temperature (D) Heating temperature 
 £ØÓøÁ¨¦ öÁ¨£{ø»  öÁ¨£‰mk® öÁ¨£{ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. Biomass is consider as  
E°º©[PÒ (Biomass) ———— ÁÍ[PÍõP P¸u¨£kQÓx. 

(A) Non-renewable source of energy 
 ¦x¨¤UP •i¯õu BØÓÀ 

(B) Conventional source of energy 

 G›\Uv°ß ÁÇUP©õÚ Buõμ®   

(C) Renewable source of energy  
 ¦x¨¤UPzuUP BØÓÀ Buõμ® 

(D) All the above 
 ÷©÷» EÒÍ AøÚzx®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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36. Hard coke is produced by carbonisation of coal at 
PiÚ©õÚ PÀP› {»UP›°¼¸¢x RÌPsh öÁ¨£{ø»°À 
u¯õ›UP¨£kQÓx. 

(A) Atmospheric Temperature (B) 500-600°C 

 ÁÎ ©sh» öÁ¨£{ø»  500-600° ö\À]¯ì 

(C) 700-850°C (D) 950-1100°C 
 700-850° ö\À]¯ì  950-1100° ö\À]¯ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

37. 1 kg of carbon produces following quantity of CO 
J¸ Q÷»õ Qμõ® AÍÄÒÍ Põº£ß RÌPsh AÍÂÀ Põº£ß 
÷©õÚõUøéøh öÁÎ°kQÓx. 

(A) 1 kg (B) 11/3 kg 

(C) 7/3 kg (D) 3/7 kg 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. Coal particles proper size in fluidized bed boiler 
FBC öPõvP»ÛÀ £¯ß£kzu¨£k® {»UP›°ß \›¯õÚ AÍÄ Gß£x 

(A) 25-75 mm (B) 15-25 mm 

(C) < 10 mm (D) < 2 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. Orsat apparatus is used to determine the 
(i) Percentage of CO2, O2 and CO by volume in flue gas 
(ii) Percentage of CO2, O2 and CO by weight in flue gases. 
(iii) CO2 in flue gases. 
Kº\õm P¸Â CuøÚU PshÔ¯¨ £¯ß£kQÓx. 

(i) Põº£ßøh BUøék, BUêáß ©ØÖ® Põº£ß CÁØÔß 
AÚØPõØÔß öPõÒÍÂß \uÃuzøuU PshÔ¯.  

(ii) Põº£ßøh BUøék, BUêáß ©ØÖ® Põº£ß CÁØÔß AÚØ 
PõØÔß {øÓ°ß \uÃuzøuU PshÔ¯ 

(iii) AÚØPõØÔÀ EÒÍ Põº£ß øh BUøéøh PnUQh 

(A) (i) only (B) (i) and (iii) only 

 (i) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only (D) (ii) and (iii) only 
 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. The combustible parts of fuel is 
G›ö£õ¸ÎÀ G›¯U Ti¯ £õP[PÒ Gß£x 

(A) Nitrogen, Ash (B) Carbon, Sulphur 

 ø|mμáß, \õ®£À  P›, P¢uP® 

(C) Carbon-di-oxide (D) Carbon mono oxide 
 Põº£ß&øh&BUøék  Põº£ß ÷©õÚõUøék 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. The general size of the man hole in a boiler is 
öPõvP»ÛÀ ö£õxÁõP ©Ûu ~øÇÁõ°¼ß AÍÁõÚx CÆÁõÖ 
Põn¨£k®. 

(A) 20 cm ×  10 cm (B) 40 cm ×  30 cm 

 20 ö\.« ×  10 ö\.«   40 ö\.« ×  30 ö\.« 

(C) 50 cm ×  30 cm (D) 30 cm ×  40 cm 
 50 ö\.« ×  30 ö\.«  30 ö\.« ×  40 ö\.« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. The number of mountings fitted on the top drum 
÷©À öPõ¨£øÓ°À EÒÍ ö£õ¸zu[PÎß GsoUøP 

(A) 3 (B) 5 

(C) 2 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

43. In a Boiler generally man hole will be in a shape of  
öPõvP»ÛÀ ö£õxÁõP ©Ûu ~øÇÁõ°À C¢u ÁiÁzvÀ C¸US®. 

(A) Square shape (B) Round shape 

 \xμ ÁiÁ®  Ámh ÁiÁ® 

(C) Oval shape (D) Rectangular shape 
 •møh ÁiÁ®  ö\ÆÁP ÁiÁ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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44. The fusible plug in small boilers is located   
]Ô¯ ÁøP öPõvP»ßPÎÀ E¸S Aøh¨£õßPÒ G[S Aø©¢xÒÍx? 

(A) In the drum  
 iμ® £Sv°À  

(B) In the fire tubes  
 AÚØSÇõ´ £Sv°À 

(C) Above steam dome   
 }μõÂ öPõ¨£øÓ°ß ÷©À  

(D) Over the combustion chamber 
 G›²® öPõ¨£øÓ°ß ÷©À  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

45. This type of valve is not suitable for reducing the flow 
KmhzøuU SøÓ¨£uØS CÆÁøP ÁõÀÄ HØÓuÀ» 

(A) Gate valve (B) Globe valve 

 ÷Pm ÁõÀÄ  S÷Íõ¨ ÁõÀÄ 

(C) Feed valve (D) None of these  
 ö\¾zx ÁõÀÄ  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. Mobrey switch works based on  
Pmk¨£kzx® _Âma Cuß Ai¨£øh°À ÷Áø» ö\´QÓx. 

(A) bimetallic strip (B) valves  
 E÷»õP xsk  ÁõÀÄPÒ 

(C) sensor  (D) limit switch 
 Po¨£õß  Áμ®¦ _Âma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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47. Name the test used to test the plugs in laboratory  
B´ÁPzvÀ Aøh¨£õßPøÍ £›÷\õvUS® ÷\õuøÚ°ß ö£¯º 

(A) blow out (B) blow in  
 öÁÎ÷¯ Fv  EÒ÷Í Fv 

(C) melt out (D) melt in  
 öÁÎ÷¯ E¸Q  EÒ÷Í E¸Q 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

48. A flow in which density does not remain constant during flow is  
CÆÁøP¯õÚ KmhzvÀ, Kmhzvß Ahºzv {ø»¯õP C¸¨£vÀø». 

(A) Linear flow (B) Compressible flow 

 ÷|º Kmh®  AÊzu Kmh® 

(C) Non linear flow (D) Laminar flow 
 ÷|º CÀ»õu Kmh®  ÷»ªÚõº Kmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. In water level indicator the lower space and upper space fixed in  
uspº ©mh©õÛ°ß RÌ•øÚ ©ØÖ® ÷©À•øÚ •øÓ÷¯ 
CønUP¨£mi¸US® £Sv 

(A) Steam, Water (B) Water, Water 

 }μõÂ, uspº  uspº, uspº 

(C) Water, Steam (D) Steam, Steam 
 uspº, }μõÂ  }μõÂ, }μõÂ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   451–Boiler Attendant 
  [Turn over 

23

50. The value of density of water is  
}›ß Ahºzv°ß ©v¨¦  

(A) 2 gm/cm3 (B) 1 gm/cm2 

 2 Qμõ®/ö\.«
3
  1 Qμõ®/ö\.«

2 

(C) 1 gm/cm3 (D) 2 gm/cm2 
 1 Qμõ®/ö\.«

3
  2 Qμõ®/ö\.«

2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. The pressure at any point in a fluid is defined as  
J¸ vμÁzvß G¢u¨ ¦ÒÎ°¾® AÊzu® CÆÁõÖ Áøμ¯ÖUP¨£kQÓx. 

(A) force per unit area (B) density per unit area  
 J¸ ³Ûm Âø\  J¸ ³Ûm Ahºzv 

(C) viscosity per unit area (D) velocity per unit area 
 J¸ ³Ûm £õSzußø©  J¸ ³Ûm ÷ÁP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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52. In a steam pressure gauge the function of ‘U’ tube syphon 
}μõÂ AÊzu ©õÛ°À ‘U’ ÁiÁ Syphon&ß ÷Áø» 

(A) Protect the pressure gauge from the direct steam   
 }μõÂ ÷|μi¯õP AÊzu ©õÛUSÒ ~øÇ¢x Aøu £õvUPõu£i 

£õxPõUQÓx 

(B) Always water filled with ‘U’ tube 

 ‘U’ ÁiÁU SÇõ°ÝÒ GÆö£õÊx® }º {μ®¤°¸US® 

(C) (A) and (B) correct 
 (A) ©ØÖ® (B) \› 

(D) (A) correct (B) false 
 (A) \›, (B) uÁÖ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. The safety valve at superheater as compared to drum safety valve
setting  is set at  
J¸ ªøPa `÷hØÔ°À Põ¨¦ ÁõÀÄ Gß£x iμ® Põ¨¦ ÁõÀÂøÚ 
J¨¤k® ÷£õx CÆÁõÖ ö\mi[ ö\´¯¨£kQÓx. 

(A) Higher value (B) Lower value 

 AvP ©v¨¤À  SøÓ¢u ©v¨¤À 

(C) Same value (D) None of the above  
 \©©õÚ ©v¨¤À  ÷©ØPsh GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. The safety valve in a Boiler mountings is  
öPõvP»ß ö£õ¸zx \õuÚzvÀ Põ¨¦ ÁõÀÂß £¯ß  
(i)  Complete control of steam generation process 
 }μõÂ EØ£zv ö\¯À•øÓø¯ •øÓ¯õP Pmk¨£kzvh 
(ii) It fixed indirectly in steam space 
 Cx }μõÂ¨ £Sv°À ©øÓ•P©õP ö£õ¸zu¨£mi¸US® 
(iii) To ensure the safety operation in Boiler 
 öPõvP»ß £õxPõ¨£õÚ C¯UPzvøÚ EÖv¨£kzxQÓx 
(iv) None of the above  
 ÷©ØPshÁØÔÀ GxÄªÀø» 

(A) (i) and (ii) only (B) (ii) and (iii) only  

 (i) ©ØÖ® (ii) ©mk®   (ii) ©ØÖ® (iii) ©mk® 

(C) (i) and (iii) only (D) (iv) only 

 (i) ©ØÖ® (iii) ©mk®  (iv) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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55. The application of feed check valve in the Boiler is  
öPõvP»ÛÀ Feed check valve &ß £o Gß£x 

(A) To feed and control the flow of water from feed pump to the 
Boiler  

 Feed £®¤¼¸¢x Á¸® uspøμ öPõvP»ÝUS öPõkUPÄ®, }›ß 
KmhzøuU Pmk¨£kzuÄ® 

(B) Act as return valve in the boiler  
 öPõvP»Û¼¸¢x }º v¸®¤ Áμ EuÄQÓx 

(C) To feed the Air in the boiler 
 öPõvP»ÝUSÒ PõØøÓa ö\¾zvh EuÄQÓx  

(D) To feed the fuel supply in the boiler 
 öPõvP»ÝUSÒ G›ö£õ¸øÍa ö\¾zvh EuÄQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. Spring loaded pop safety valve should open 
ì¤›[ ÷»õhm £õ¨ £õxPõ¨¦ ÁõÀÄ CÆÁõÖ ö\¯À£k® 

(A) Slow and partially  
 ö©xÁõP ©ØÖ® £Sv¯õP vÓUS® 

(B) Quick and fully  
 ÂøμÁõP ©ØÖ® •Êø©¯õP vÓUS® 

(C) Gradual opening  
 ^μõP vÓUS® 

(D) None of these  
 CÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. In spring loaded pop safety valve the process ––––––––––– is used to 
open the valve and control the blow down quantity 
ì¤›[ ÷»õhm £õ¨ ÁõÀÄ •Êø©¯õP vÓ¨£uØS® öÁÎ¯PØÓ¨£k® 
AÍÂøÚa Pmk£kzxÁuØS® ö\´²® •øÓ 

(A) Opening (B) Guidering 

 vÓzuÀ  ÁÈPõmk® Aø©¨¦ 

(C) Levelling (D) None of these 
 ©mh® ö\´uÀ  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. List out this is not a mounting of a Boiler 
CÁØÔÀ Gx öPõvP»ÛÀ ö£õ¸zxUPÒ AÀ» Gß£øu _miUPõmk 

(A) Blow of Coke  
 öÁÎ¯PØÖ® SÇõ´ 

(B) Feed check valve 

 ö\¾zx, ÷\õuøÚ ÁõÀÄ 

(C) Economiser  
 ]UPÚU P»ß 

(D) Fusible plug 
 E¸UQ Aøh¨£õß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. The safety valve releases ––––––––––– quantity of steam in the 
atmosphere. 
£õxPõ¨¦ ÁõÀÄ ––––––––––– AÍÄ }μõÂø¯ öPõvP»Û¼¸¢x 
ÁÎ©sh»zvØS öÁÎ÷¯ØÖQÓx. 

(A) Less (B) More 

 SøÓÁõÚ  AvP©õÚ 

(C) Very Less (D) None of these 
 ªPU SøÓÁõÚ  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. In a Boiler safety valve lever, the pivots are fixed with 
öPõvP»ß £õxPõ¨¦ ÁõÀÂß ½ÁºPÎÀ EÒÍ pivot PÎß •øÚPÒ 
CÁØÔÀ ö£õ¸zu¨£mi¸US® 

(A) Pin and Dropping (B) Bolt and Nut 

 F] ©ØÖ® øPÂkuÀ  ÷£õÀm ©ØÖ® |m 

(C) Pin and Forging (D) None of these 
 F] ©ØÖ® E¸US  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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61. How can boiler efficiency be improved? 
öPõvP»ß ö\¯ÀvÓøÚ GÆÁõÖ ÷©®£kzu»õ®? 

(A) Increase combustion air  

 G›¨¦ PõØøÓ AvP›UPÄ®   

(B) Decrease excess air 
 AvP¨£i¯õÚ PõØøÓ SøÓUPÄ® 

(C) Optimize fuel / Air ratio  
 G›ö£õ¸Ò / PõØÖ ÂQuzøu ÷©®£kzxuÀ   

(D) All of the above 
 ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

62. The following is not the part of supercritical boiler 
¤ßÁ¸ÁÚÁØÖÒ Gx `¨£º Q›miPÒ öPõvP»Ûß £Sv AÀ». 

(A) Economiser (B) Super heater 

 GPÚõø©\º  `¨£º ïmhº 

(C) Reheater (D) Evaporator 
 Ÿïmhº  BÂ¯õUQ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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63. ––––––––––– are the constituents in fuel that produces dry flue gas.
––––––––––– GßÓ G›ö£õ¸ÎÀ EÒÍ TÖPÒ E»º L¨Ð Áõ²øÁ 
E¸ÁõUS®. 

(A) Carbon and Oxygen (B) Carbon and Sulphur 

 Põº£ß ©ØÖ® BUêáß  Põº£ß ©ØÖ® \À£º 

(C) Nitrogen and Sulphur (D) Carbon and Nitrogen 
 ø|mμáß ©ØÖ® \À£º  Põº£ß ©ØÖ® ø|mμáß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

64. What is the effect of fuel moisture on unburnt Carbon loss? 
G›UP¨£hõu Põº£ß CÇ¨¤À G›ö£õ¸Ò Dμzvß ÂøÍÄ GßÚ? 

(A) Increases Loss (B) Decreases Loss 

 CÇ¨ø£ AvP›UQÓx  CÇ¨ø£ SøÓUQÓx 

(C) No Impact (D) Depends on Fuel 
 £õv¨¦ CÀø»  G›ö£õ¸øÍa \õº¢ux 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. The heat loss due to unburnt fuel ––––––––––– be completely 
avoided in case of solid fuel. 
G›UP¨£hõu G›ö£õ¸ÍõÀ HØ£k® öÁ¨£ CÇ¨¦ vh G›ö£õ¸ÎÀ 
•ØÔ¾©õP uÂºUP¨£h. 

(A) Can (B) Cannot 

 •i²®  •i¯õx 

(C) May (D) Should 
 •i¯»õ®  ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. What material can be used to reduce radiation losses? 
öÁ¨£ PvºÃa_ CÇ¨ø£ SøÓUP öPõvP»ÛÀ G¢öu¢u ö£õ¸mPøÍ 
£¯ß£kzu»õ®? 

(A) Refractory materials (B) Insulating materials 

 ›L¨μõUh› ö£õ¸mPÒ  Cß_÷»mi[ ö£õ¸mPÒ 

(C) Both (A) and (B) (D) None of the above 
 (A) ©ØÖ® (B) Cμsk®  ÷©÷» EÒÍ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. 660 MW Power Plant is installed with ––––––––––– type of Boiler. 
660 ö©PõÁõm ªß EØ£zv ö\´²® {ø»¯® RÌUPshÁØÖÒ G¢u 
öPõvP»ß ÁøPø¯ \õº¢ux? 

(A) FBC Boiler (B) Super Critical Boiler 

 FBC öPõvP»ß  `¨£º Q›miPÒ öPõvP»ß 

(C) Sub Critical Boiler (D) Packed Boiler 
 \¨ Q›miPÒ öPõvP»ß  ÷£U ö\´¯¨£mh öPõvP»ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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68. What is the expansion of SCAPH in thermal power plant? 
AÚÀ ªß{ø»¯zvÀ EÒÍ SCAPH Gß£uß Â›ÁõUP® GßÚ? 

(A) Steam Coil Air Pre heater  

 }μõÂ _¸Ò PõØÖ •ß `÷hØÔ   

(B) Steam Condenser Air Pre heater 
 }μõÂ SÖUQ PõØÖ •ß `÷hØÔ 

(C) Steam Coil Air Post Heater  
 }μõÂ _¸Ò PõØÖ ¤ß `÷hØÔ   

(D) Steam Condenser Air Post Heater 
 }μõÂ SÖUQ PõØÖ ¤ß `÷hØÔ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

69. The percentage range of Dry Flue Gas loss is about 
E»º L¨Ñ Áõ² CÇ¨¤ß \uÃu Áμ®¦ _©õº 

(A) 4% – 5% (B) 10% – 12% 

(C) 15% – 17% (D) 20% – 25% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. The outlet temperature of Air–preheater gas in Thermal Power 
Plant is in the order of –––––––––––ºC 
AÚÀªß{ø»¯zvÀ Hº–¨Ÿïmh›ß Áõ² öÁÎ÷¯Ö® Chzvß 

öÁ¨£{ø» ––––––––––– ºC Á›ø\°À EÒÍx 

(A) 100 ºC (B) 110 ºC 

(C) 130 ºC (D) 150 ºC 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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71. How to calculate boiler efficiency? 
RÌPshÁØÖÒ öPõvP»ß ö\¯ÀvÓß GÆÁõÖ PnUQh¨£kQÓx? 

(A) Steam Generation/Steam Consumption   

 }μõÂ E¸ÁõUP®/}μõÂ ~PºÄ   

(B) Steam Generation/Fuel Consumption 
 }μõÂ E¸ÁõUP®/G›ö£õ¸Ò ~PºÄ  

(C) Heat in Steam Output/Heat in Fuel Input 
 }μõÂ öÁÎ±mhÀ öÁ¨£®/G›ö£õ¸Ò EÒÏmhÀ öÁ¨£®   

(D) Heat Input/Heat Output  
 öÁ¨£ EÒÏk/öÁ¨£ öÁÎ±k   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

72. Heat Recovery equipment of Boiler is considered as ___________
factor on which Boiler/Depends Efficiency  
öPõvP»Ûß öÁ¨£ «m¦ P¸Â –––––––––– Põμo¯õP P¸u¨£kQÓx, CvÀ 
öPõvP»ß ö\¯ÀvÓß \õº¢x EÒÍx? 

(A) Variable Factor (B) Common Factor 

 ©õÔ Põμo  ö£õxÁõÚ Põμo 

(C) Fixed Factor (D) Mixed Factor 
 {ø»¯õÚ Põμo  P»¨¦ Põμo 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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73. If the boiler, economizer and super heater are consider as single
unit, their boiler efficiency is termed as ___________ of the boiler 
plant. 
öPõvP»ß, GPÚõø©\º ©ØÖ® `¨£º ïmhº BQ¯øÁ JØøÓ A»PõPU 
P¸u¨£mhõÀ, öPõvP»ß vÓß öPõvP»ß Bø»°À –––––––––– GÚ 
AøÇUP¨£kQÓx. 

(A) Net Efficiency (B) Thermal Efficiency 

 {Pμ ö\¯ÀvÓß  öÁ¨£ ö\¯ÀvÓß 

(C) Overall Efficiency (D) Master Efficiency 
 Jmkö©õzu ö\¯ÀvÓß  ©õìhº ö\¯ÀvÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Steam to fuel ratio for oil fired boilers typical values are?  
}μõÂ ©ØÖ® G›ö£õ¸Ò ÂQu® B°À fired öPõvP»ÛÀ ÁÇUP©õÚ 
AÍÄPÒ GßÚ? 

(A) 4.0 – 5.5 (B) 15 – 20 

(C) 8 – 10 (D) 13.5 – 14.5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

75. Indian standard for Boiler Efficiency calculation is  
RÌPshÁØÖÒ Gx öPõvP»ß vÓß PnURmiØPõÚ C¢v¯ uμ{ø» Gs? 

(A) IS 8753 (B) IS 3753 

(C) IS 10496 (D) IS 2100 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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76. Direct method of Boiler Efficiency calculation involves  
¤ßÁ¸ÁÚÁØÖÒ G¢u ÷|μi •øÓ `zvμzøu £¯ß£kzv öPõvP»Ûß 
vÓß (GL¥æ¯ßæ) PnUQh¨£kQÓx? 

(A) Heat Loss Method  

 öÁ¨£ CÇ¨¦ •øÓ   

(B) Input-Output Method  
 EÒÏk öÁÎ±mk •øÓ 

(C) Fuel Calorific Value Method  
 G›ö£õ¸Îß P÷»õ›L¤U ©v¨¦ •øÓ  

(D) Air Fuel Ratio Method  
 PõØÖ G›ö£õ¸Ò ÂQu® •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

77. Which one of the following has a high specific Gravity? 
¤ßÁ¸ÁÚÁØÔÀ Gx AvP SÔ¨¤mh Dº¨¦ Âø\ø¯ öPõskÒÍx? 

(A) Furnace oil  (B) HSD 

 Eø» Gsön´  Ga.Gì.i 

(C) Kerosene (D) Water 
 ©sönsön´  uspº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. Presence of sulphur in Boiler Fuel leads to  
G›ö£õ¸ÎÀ P¢uPzvß C¸¨¦ öPõvP»Ûß –––––––––– ÁÈÁSUQÓx. 

(A) Corrosion (B) Erosion 

 ÷Áv°¯À A›¨¦  C¯¢vμ A›¨¦ 

(C) Low heat transfer  (D) None of the above  
 SøÓ¢u öÁ¨£ £›©õØÓ®  ÷©÷» EÒÍ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. In a coal fired boiler, which parameter mostly influences flame
profile? 
{»UP› G›²® öPõvP»ÛÀ G¢u AÍÄ¸ ö£¸®£õ¾® _høμ £õvUQÓx? 

(A) Fixed Carbon (B) Volatile Matter 

 {ø»¯õÚ Põº£ß  BÂ¯õS® ö£õ¸Ò 

(C) Hydrogen (D) All of the above 
 øímμáß  ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. High percentage of carbon monoxide presence in the flue gas of
boiler is an indicator of  
öPõvP»Ûß L¨Ñ Áõ²ÂÀ Põº£ß ÷©õÚõUø\k C¸¨£x –––––––––– US 
AÔSÔ¯õS®. 

(A) High Excess Air  

 ªP AvP¨£i¯õÚ PõØÖ   

(B) Complete Combustion  
 •Êø©¯õÚ G›¨¦ 

(C) Good Control of Pollutants  
 ©õ_¨£kzvPÎß |À» Pmk¨£õk   

(D) Low Excess Air   
 SøÓ¢u AvP¨£i¯õÚ PõØÖ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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81. Hardness of water is due to the presence of salts of  
CÆÁøP E¨¦ ußø© EÒÍ ö£õ¸ÍõÀ usp›À PiÚzußø© 
Põn¨£kQÓx 

(A) Potassium (B) Chlorine 

 ö£õmhõ]¯®  S÷Íõ›ß 

(C) Magnesium  (D) Boron  
 ö©UÜ]¯®  ÷£õμõß  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

82. TDS refers to concentration of  
TDS Gß£x G¢u ö\ÔøÁU SÔUQÓx? 

(A) Non soluble solids in water  

 }›À Pøμ¯õu vh¨ö£õ¸mPÒ   

(B) Dissolved solids in water 
 }›À Pøμ¢u vh¨ö£õ¸mPÒ 

(C) Semi solved solids in water  
 }›À Aøμ Pøμ¢u vh¨ö£õ¸mPÒ   

(D) Impurities in water  
 usp›À EÒÍ A_zu[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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83. The measurement of turbidity in water is  
}›À EÒÍ öPõ¢uÎ¨¤ß AÍÃk GßÚ? 

(A) mg/l (B) g/l 

 mg/l  g/l 

(C) NTU or FTU (D) BTU 
 NTU AÀ»x FTU  BTU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. The pressure applied in RO process is known as  
RO ö\¯À£õmiÀ ö\¯À£kzu¨£k® AÊzu® GÆÁõÖ AÔ¯¨£k®? 

(A) Hydro pneumatic pressure  (B) Osmotic pressure 

 }º Áõ² AÊzu®  \ÆÅk£μÁÀ 

(C) Idle pressure (D) Gravitational pressure 
 öÁØÖ AÊzu®  ¦Â±º¨¦ AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. Every RO system is equipped with ––––––––––– to prevent 
suspended matter from entering the system. 
RO Aø©¨¤À Pøμ¢xÒÍ PÛ©[PøÍ uk¨£uØS C®•øÓ 
Aø©UP¨£kQÓx. 

(A) High pressure pump  

 E¯º AÊzu £®¨   

(B) Cartridge filters 
 Põºm›mä ÁiPmiPÒ 

(C) Membrane   
 \ÆÄ   

(D) Cartridge filters before high pressure pump 
 E¯º AÊzu £®¤ØS •ßÚuõP Põºm›ä ÁiPmiPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. TDS in boilers can be controlled by 
öPõvP»ÛÀ TDS GÆÁõÖ Pmk¨£kzu¨£kQÓx? 

(A) Adding feed water (B) Blow down water 

 Fmh}º ÷\º¨£uõÀ  }º R÷Ç APØÖÁuõÀ 

(C) Adding soft water (D) Adding raw water 
 ö©ßø©¯õÚ }º ÷\º¨£uõÀ  ‰» }º ÷\º¨£uõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. UV radiation is shorter than ––––––––––– nanometre wavelength. 
¦Ó Fuõ PvºÃa_ CÆÁÍÄ |õ÷Úõ«mhº Aø»}ÍzvØS® SøÓÁõÚx 

(A) 200 (B) 100 

(C) 150 (D) 400 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. Ultra filtration is a  
wÂμ ÁiPmkuÀ Gß£x 

(A) Cross flow low pressure process  

 SÖUS Kmh® SøÓ¢u AÊzu ö\¯À•øÓ   

(B) Cross flow high pressure process  
 SÖUS Kmh® AvP AÊzu ö\¯À•øÓ 

(C) Straight flow low pressure process  
 ÷|º Kmh® SøÓ¢u AÊzu ö\¯À•øÓ   

(D) Straight flow high pressure process 
 ÷|º Kmh® AvP AÊzu ö\¯À•øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. Salt rejection is defined as 
E¨¦ {μõP›¨¦ CÆÁõÖ Áøμ¯ÖUP¨£kQÓx 

(A) 1 + Salt passage (B) 1 × Salt passage 

(C) 1 / Salt passage (D) 1 – Salt passage 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

90. The membrane based separation process was established in the year 
\ÆÄ Ai¨£øh°»õÚ ¤›¨¦ ö\¯À•øÓ Gß£x C¢u Bsk 
{ÖÁ¨£mhx 

(A) 1950’s (B) 1990’s 

(C) 1960’s (D) 1980’s 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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91. Thumb rule for calculating osmotic pressure of raw water 
}›ß Bì÷©õiU AÊzuzøuU PnUQkÁuØPõÚ ö£õx Âv 

(A) Feed TDS × 0.1 (B) Feed TDS × 0.01 

(C) Feed TDS × 0.02 (D) Feed TDS × 0.2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. An increase in the conductivity of the water inside the boiler
indicates a rise in  
öPõvP»ÝUSÒ EÒÍ usp›ß PhzxzvÓß AvP©õÁx G¢u AÍÄ¸ 
AvP©õÁuõP EnºzxQÓx 

(A) Purity (B) Temperature 

 y´ø©  öÁ¨£{ø» 

(C) Contamination (D) Pressure 
 y´ø©U÷Pk  AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. An increase in boiler pressure results in what effect on the boiling
point temperature of water? 
öPõvP»Ûß AÊzu® AvP›US® ö£õÊx, usp›ß öPõv{ø» 
GßÚÁõS®? 

(A) Decrease  

 SøÓ²®   

(B) Increase 
 AvP›US® 

(C) Sharp decrease, then gradually increasing  
 EhÚi¯õP SøÓ¢x ö©xÁõP AvP›US®   

(D) No effect on temperature 
 öÁ¨£{ø»°À G¢u ©õØÓ•® C¸UPõx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. A condenser where circulating water flows through tubes which are
surrounded by steam is known as 
SÇõ´USÒ uspº ö\À¾® öÁÎ¦ÓzvÀ }μõÂ `Ì¢v¸US® 
ªß÷uUQ°ß ö£¯º 

(A) Surface condenser (B) Jet condenser 

 ÷©Ø£μ¨¦ ªß÷uUQ  öám ªß÷uUQ 

(C) Barometric condenser (D) Evaporative condenser 
 £õ÷μõö©m›U ªß÷uUQ  GÁõ£÷μmiÆ ªß÷uUQ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. Scale formed on heat transfer surfaces when 
öÁ¨£ £›©õØÓ ÷©Ø£μ¨¤À G¨ö£õÊx ö\vÍõUP® AvP©õP C¸US® 

(A) Water is acidic  

 uspº Aª» ußø©¯õP C¸US®ö£õÊx   

(B) Water is alkaline 
 uspº Põμzußø©¯õP C¸US®ö£õÊx 

(C) Water contains dissolved gases  
 usp›À Pøμ¢u Áõ²UPÒ C¸US®ö£õÊx   

(D) Water contains dissolved calcium and magnesium salts 
 usp›À Pøμ¢u PõÀ]¯® ©ØÖ® ö©UÜ]¯® E¨¦ C¸US®ö£õÊx

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. The hardness is removed from the water by a process known as 
}›¼¸¢x PiÚzußø© }UP¨£k® ö\¯À•øÓ _________ GÚ¨£k®. 

(A) ion exchange  

 A¯Û £›©õØÓ®   

(B) negative ion exchange 
 Gvº©øÓ A¯Û £›©õØÓ® 

(C) positive ion exchange  
 ÷|º©øÓ A¯Û £›©õØÓ®   

(D) negative and positive ion exchange 
 Gvº©øÓ ©ØÖ® ÷|º©øÓ A¯Û £›©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. Choose the correct answer which is causing temporary hardness 
uØPõ¼P PiÚzußø©ø¯ HØ£kzxu¼À RÌPshÁØÔÀ \›¯õÚ £vø»z 
÷uº¢öukUPÄ®. 

(A) Magnesium chloride (B) Calcium sulphate 

 ö©UÜ]¯® S÷Íõøμk  PõÀ]¯® \À÷£m 

(C) Carbon dioxide (D) Magnesium bicarbonate 
 Põº£ß øh BUø\k  ö©UÜ]¯® ø£ Põº£÷Úm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. Choose the best one used to control carbon dioxide corrosion in
condensate line 
}º }μõÂ SÇõ´PÎÀ Põº£ß øh BUø\k A›¨ø£U Pmk¨£kzu¨ 
£¯ß£kzu¨£k® ]Ó¢u JßøÓ ÷uº¢öukUPÄ®. 

(A) Cyclohexylamine (B) Sodium phosphate 

 ø\U÷ÍõöíU]»ø©ß  ÷\õi¯® £õì÷£m 

(C) Rock salt (D) Morpholine 
 £õøÓ E¨¦  ©õº÷£õ¼ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. Copper and brass corrosion is termed as 
ö\®¦ ©ØÖ® ¤zuøÍ A›¨¦ GÆÁõÖ AøÇUP¨£kQÓx 

(A) Hydrochemical corrosion (B) Hydroelectrical corrosion 

 }º ÷Áv°¯À A›¨¦  }º ªß A›¨¦ 

(C) Electrochemical corrosion (D) Electronical corrosion 
 ªß÷Áv°¯À A›¨¦  ªßÚq A›¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   451–Boiler Attendant 
  [Turn over 

45

100. Hardness in feed water is the result of  
öPõvP»ß Fmh }›À PiÚzußø© ¤ßÁ¸® GÁØÔß ÂøÍÁõS®? 

(A) Presence of oxygen and carbon dioxide  
 BUêáß ©ØÖ® Põº£ß øh BUø\k  

(B) Presence of sulphur and hydrogen 

 P¢uP® ©ØÖ® øímμáß   

(C) Presence of copper and silica 
 ö\®¦ ©ØÖ® ]¼UPõ  

(D) Presence of calcium and magnesium 
 PõÀ]¯® ©ØÖ® ö©UÜ]¯® 

(E) Answer not known 

 Âøh öu›¯ÂÀø» 

101. The material used to control SO2 emissions in combustion boilers is 
G›Åmh¨£k® öPõvP»ÛÀ SO2 EªÌøÁ ukUS® ö£õ¸Ò 

(A) CaO (B) Lime stone 

 CaO  _snõ®¦ PÀ 

(C) Silica (D) Sand 
 ]¼UPõ  ©nÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. Water treatment is highly required in 
uspº _zvP›¨¦ ªPÄ® ÷uøÁ¨£k® öPõvP»ß 

(A) Fire tube boilers 
 w SÇõ´ öPõvP»ß  

(B) Water tube boilers 

 uspº SÇõ´ öPõvP»ß   

(C) Both fire tube and water tube boilers 
 w SÇõ´ ©ØÖ® uspº SÇõ´ öPõvP»ß  

(D) All the above 
 ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. The fusible plug in small boilers is located 
]Ô¯ ÁøP öPõvP»ÛÀ E¸PUTi¯ ¤ÍU GÆÂhzvÀ 
ö£õ¸zu¨£mi¸US® 

(A) In the drum 
 iμ®  

(B) In the fire tubes 

 w SÇõ´   

(C) Over the combustion chamber 
 G›¨¦ AøÓUS ÷©À £Sv°À  

(D) At the inlet of chimney 
 ¦øP ÷£õUQ°ß EÒö\À¾® Ch® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. The device used for preventing explosions due to excessive internal 
pressure of steam is called  
öPõvP»ÝUSÒ }μõÂ°ß AvP AÊzu® Põμn©õP öÁi¨¦ HØ£kÁøu 
ukUS® \õuÚ® 

(A) Safety valve (B) Water level indicator 

 £õxPõ¨¦ ÁõÀÄ  }º {ø» Põmi 

(C) Pressure gauge (D) Fusible plug 
 AÊzu® AÍÃk  E¸PUTi¯ ¤ÍU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. Boiler feeding water having more hardness (ie) PPM high deposited
frequently removing equipment for mud, sludge, sand is 
öPõvP»Ûß usp›ß PiÚz ußø© AvP®, ÷\Ö ©s, £iÁ® 
öÁÎ÷¯ØÖ ÁõÀÂß ö£¯º 

(A) Gate valve (B) Glope valve 

 ÷Pm ÁõÀÄ  S÷Íõ¨ ÁõÀÄ 

(C) Ball valve (D) Blow down valve 
 £¢x ÁõÀÄ  }º öÁÎ÷¯ØÖ® ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

106. The factor to be monitored until drop of pressure in the boiler is 
öPõvP»ß AÊzu® SøÓ²® Áøμ PsPõoUP ÷Ási¯x 

(A) Water level (B) Reduce the water level 

 uspº ©mh®  uspº ©mhªÀ»õ©À 

(C) Suddenly stop (D) None of these 
 uspº {ÖzxuÀ  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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107. The liquid in the high pressure impulse line exerts a constant  
E¯º AÊzu E¢xÂø\ Á›ø\°À EÒÍ vμÁ® {ø»¯õÚ ——————
ö\¾zxQÓx. 

(A) Velocity (B) Viscosity 

 ÷ÁP®  £õSzußø© 

(C) Density (D) Pressure 
 Ahºzv  AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. The pressure differential will reach its —————— value when the 
liquid surface is at the datum level 
vμÁ ÷©Ø£μ¨¦ uμÄ ©mhzvÀ C¸US® ÷£õx AÊzu ÷ÁÖ£õk Auß 

—————— ©v¨ø£ Gmk®. 

(A) Minimum (B) Maximum 

 SøÓ¢u  AvP£m\ 

(C) Zero (D) Negative 
 §ä¯®  Gvº©øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. Drum water level is better measured by 
öPõvP»ß iμ® }º©mh® Cuß ‰»® ]Ó¨£õP AÍÂh¨£kQÓx. 

(A) Level transmitter 
 {ø» iμõßìªmhº  

(B) Pressure transmitter 

 AÊzu iμõßìªmhº   

(C) Differential pressure transmitter 
 ÷ÁÖ£mh AÊzu iμõßìªmhº  

(D) Sensor 
 ö\ß\õº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. The formation of stable foam on the evaporating surface in the boiler
drum is  
öPõvP»ß iμ®ªÀ BÂ¯õS® ÷©Ø£μ¨¤À {ø»¯õÚ ~øμ E¸ÁõUP® 

—————— BS®. 

(A) Priming (B) Foaming 

 •ß ö\¾zxuÀ  ~øμ ö£õ[S® 

(C) Contamination (D) All of the above 
 ©õ_£kuÀ  ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. The calorific value of slack grade II is  
ì»õU Q÷μõk II Cß P÷»õ›L¤U ©v¨¦ 

(A) 5500 – 5800 kcal/g (B) 4000 – 4500 kcal/g 

 5500 – 5800 Q.P÷»õ›/Qμõ®  4000 – 4500 Q.P÷»õ›/Qμõ® 

(C) 2200 – 2900 kcal/g (D) 5340 – 5940 kcal/g 
 2200 – 2900 Q.P÷»õ›/Qμõ®  5340 – 5940 Q.P÷»õ›/Qμõ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. The amount of air required for the pulverization of 1 kg of fuel oil is
1 Q÷»õ Gsön´ø¯ ö£õi¯õUSÁuØS ÷uøÁ¯õÚ PõØÔß AÍÄ 

(A) 10 kg (B) 12 kg 

(C) 14 kg (D) 16 kg 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

113. The boiler water level checking equipment is 
öPõvP»ÛÀ uspº ©mhU P¸Â°ß ö£¯º 

(A) Gauge glass (B) Tachometer 

 AÍÄ Psnõi  hõU÷Põ «mhº 

(C) Defractro meter (D) Pressure gauge 
 i£μUm÷μõ «mhº  AÊzu Psnõi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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114. The most resistive micro organism is 
ªPÄ® Gvº¨¦zvÓß öPõsh ~sq°º 

(A) Fungus (B) Bacteria 

 §gø\  £õUj›¯õ 

(C) Algae (D) Parasites 
 £õ]  JmksoPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

115. The calorific value of graphite is 
QμõLø£miß P÷»õ›L¤U ©v¨¦ 

(A) 27250 kJ/kg (B) 32125 kJ/kg 

(C) 32550 kJ/kg (D) 32910 kJ/kg 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. Effect of nitrogen is to 
ø|mμáÛß ÂøÍÄ Gß£x 

(A) Increase the heat  

 öÁ¨£zøu TmkÁx  

(B) Observe the heat  
 öÁ¨£zøu QμQzxU öPõÒQÓx 

(C) Decrease the heat  
 öÁ¨£zøu SøÓUQÓx   

(D) None of these  
 CøÁ HxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. Silica carry over is more at pressure above 
]¼UPõ Phzu¼ß AvP£m\ AÊzu® CÁØÔß ÷©÷» Tku»õP C¸US® 

(A) 35 kg/cm2 (B) 50 kg/cm2 

 35 Q. Qμõ®/ö\.«
2  

50 Q. Qμõ®/ö\.«
2
 

(C) 28 kg/cm2 (D) 60 kg/cm2 

 28 Q. Qμõ®/ö\.«
2  

60 Q. Qμõ®/ö\.«
2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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118. Choose the right matches among the following 
RÌPshÁØÔÀ \›¯õÚ Cønø¯U Psk¤i 

(1) CO meter – To find the quantity of carbondioxide 
   in flue gases  

 CO «mhº  PÈöÁ› Áõ²UPÎÀ EÒÍ Põº£ß øh 
BUøéiß AÍøÁU PshÔ¯ 

(2) SO2 meter – To find the sulphur oxide quantity in 
   flue gases 

 SO2 «mhº  PÈöÁ› Áõ²UPÎÀ EÒÍ \À£º 
BUøéiß AÍøÁU PshÔ¯ 

(3) O2 meter – To find the quantity of Oxygen in flue 
   gases 

 O2 «mhº  PÈöÁ› Áõ²UPÎÀ EÒÍ BUêIß 
AÍøÁU PshÔ¯ 

(4) CO2 meter – To find the quantity of carbondioxide 
   in the flue gases 

 CO2 «mhº  PÈöÁ› Áõ²UPÎÀ EÒÍ Põº£ßøh 
BUøéiß AÍøÁU PshÔ¯ 

(A) (1) and (3) are correct  

 (1) ©ØÖ® (3) \›    

(B) (1) and (2) are correct 

 (1) ©ØÖ® (2) \›   

(C) (2) and (3) are correct  
 (2) ©ØÖ® (3) \›   

(D) (3) and (4) are correct 
 (3) ©ØÖ® (4) \›  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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119. The substance circulated through the equipment to absorb and carry
away the heat is 
E£Pμnzv¾ÒÍ öÁ¨£zøu EÔg_ÁuØS® Gkzxa ö\ÀÁuØS® _ØÖ® 
ö£õ¸Ò. 

(A) Hot water (B) Cool water 

 _k }º  SÎº }º 

(C) Normal water (D) Pressure water 
 \õuõμn }º  AÊzu }º  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

120. Complete the equation =+ 423 HN4Fe(OH)  
\©ß£õmøh {øÓÄ ö\´P =+ 423 HN4Fe(OH)  

(A) O4HN4Fe(OH) 222 ++  (B) O3HN4Fe(OH) 222 ++  

(C) O2HN3Fe(OH) 222 ++  (D) O4HN2Fe(OH) 222 ++  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. Effect of water mixture in fuel oil 
Gsøn G›ö£õ¸ÎÀ uspº P»¨£uõÀ EshõS® ÂøÍÄ 

(A) Affect’s steam quality  
 }μõÂ°ß uμ® SøÓ²® 

(B) Affect’s refractory 

 ö\[PÀ Aø©¨ø£¨ £õvUS® (Refractory) 

(C) Improve’s firing  
 G›vμß AvP›US® 

(D) None of these 
 CøÁ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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122. For one year old coal calorific loss is range between ——————%.  
J¸ Á¸hzvØS £Çø©¯õÚ {»UP›°ß öÁ¨£ CÇ¨¦ AÍÄ ÂQu®. 

(A) 0.0 to 0.25% (B) 0.25 to 0.50% 

(C) 0.5 to 1.0% (D) 1.0 to 1.5% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. Indian coal’s slack grade – II calorific value is —————— Kcal/kg. 
C¢v¯ {»UP›°ß slack uμ® – II öÁ¨£ ©v¨¦ Gß£x ——————

Kcal/kg. 

(A) 4340 – 5340 (B) 5340 – 5940 

(C) 5940 – 6340 (D) 2940 – 4940 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

124. % of oxygen )(O2  in furnace oil is  

% of Áõ°Ä )(O2  AÍÄ G›ö£õ¸Ò Gsön°À —————— EÒÍx. 

(A) 0.5% (B) 1.0% 

(C) 1.5% (D) 2.0% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. At atmospheric pressure water freezing point is —————— K.  
ÁÎ©sh» AÊzuzvÀ usp›ß EøÓ{ø» Gß£x —————— K. 

(A) – 273 (B) + 273 

(C) – 373 (D) + 373 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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126. Other name of dryness fraction is 
ÁÓmi ¤ßÚzvß ©Öö£¯º —————— (}μõÂ°ß E»º ÂQu®). 

(A) Vapour quality (B) Steam quality 

 BÂ°ß uμ®  }μõÂ°ß uμ® 

(C) Condensate quality (D) Pressure quality 
 SÎº}μõÂ°ß uμ®  AÊzuzvß uμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

127. The T-S diagram dealt with 
(i) The relationship with Temperature and Entropy 
(ii) The relationship with Temperature and pressure 
(iii) The relationship with Enthalphy and Entropy 
T–S Áøμ£h® Gß£x CuÝhß öuõhº¦øh¯x 

(i) öÁ¨£{ø»US®, ö©õzu öÁ¨£{ø»US® Cøh÷¯¯õÚ öuõhº¦ 

(ii) öÁ¨£{ø»US®, AÊzuzvØS® Cøh÷¯¯õÚ öuõhº¦ 

(iii) Enº öÁ¨£zvØS® , ö©õzu öÁ¨£zvØS® Cøh÷¯¯õÚ öuõhº¦ 

(A) (i) only (B) (i) and (iii) only 

 (i) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only (D) (ii) and (iii) only 
 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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128. Mollier diagram dealt with 
÷©õ¼¯º Áøμ£h® CuÝhß öuõhº¦øh¯x 

(A) Temperature, Pressure  

 öÁ¨£{ø», AÊzu®   

(B) Liquid, Vapour  
 vμÁ®, BÂ 

(C) Pressure, Volume  
 AÊzu®, öPõÒÍÍÄ   

(D) Enthalphy, Entropy  
 EnºöÁ¨£®, ö©õzuöÁ¨£® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

129. The calorific value of wood is 
©μzvß öÁ¨£ ©v¨¦ (calorific value) Gß£x 

(A) 45,000 kJ/kg (B) 30,000 kJ/kg 

(C) 19,700 kJ/kg (D) 10,000 kJ/kg 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. The calorific value of coal gas is 
{»UP› G›Áõ²Âß öÁ¨£ ©v¨¦ Gß£x 

(A) 21,000 – 25,000 kJ/m3  

(B) 28,000 – 31,000 kJ/m3 

(C) 35,000 – 40,000 kJ/m3  

(D) 41,000 – 45,000 kJ/m3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. The entropy can be calculated as 
ö©õzu öÁ¨£{ø» CÆÁõÖ PnUQh¨£kQÓx 

(A) 
dQ
T

ds =  (B) 
Q
dT

ds =  

 (C) 
T
dQ

ds =  (D) None of these 

   CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. The Ignition temperature of lignite is 
£Ê¨¦ {»UP›°ß G›öÁ¨£{ø» Gß£x 

(A) 230–240°C (B) 280–320°C 

(C) 350–420°C (D) 450–520°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

133. The Atom weight of Oxygen is 
BUêáÛß Aq Gøh 

(A) 4 (B) 8 

(C) 16 (D) 32 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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134. Boyle’s Law was invented by 
£õ°À Âv CÁμõÀ Psk ¤iUP¨£mhx 

(A) Sir Robert Boyle (B) Henry Boyle 

 \º μõ£ºm £õ°À  öíßÔ £õ°À 

(C) Sir Recnold Boyle (D) Sir Mclen Boyle 
 \º öμUÚõÀm £õ°À  \º ö©U»ß £õ°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

135. The unit of Energy in S.I. unit is 
S.I. ³ÛmiÀ BØÓ¼ß A»S 

(A) Watt (B) Joule 

 Áõm  áüÀ 

(C) Joule/s (D) Joule/m 
 áüÀ/ÂÚõi  áüÀ/{ªh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. O2 content in atmospheric air on volume basis is 
öPõÒÍÍÂß Ai¨£øh°À ÁÎ ©sh» PõØÔÀ EÒÍ BUêáÛß (O2)
AÍÄ 

(A) 21% (B) 23% 

(C) 30% (D) 40% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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137. A sudden fall in the barometer reading is a sign of approaching 
J¸ £õ÷μõ «mh›ß AÍÄ CÁØÔß uõUPzuõÀ vjöμÚ SøÓQÓx 

(A) Fine weather (B) Rains 

 ªu©õÚ Põ»{ø»  ©øÇ 

(C) Storm (D) Cold wave 
 `ÓõÁÎ  SÎº¢u Aø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. The energy in transit is termed as 
BØÓ¼ß ©õØÓ® CÆÁõÖ AøÇUP¨£kQÓx 

(A) Mass (B) Heat 

 {øÓ  öÁ¨£® 

(C) Pressure (D) Volume 
 AÊzu®  PÚ AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. A flow in which density does not remain constant during flow is 
Kmhzvß ÷£õx Ahºzv ©õÓõ©À C¸US® J¸ Kmhzvß ö£¯º  

(A) Incompressible flow (B) Compressible flow 

 _¸UP •i¯õu Kmh®  _¸UPU Ti¯ Kmh® 

(C) Laminar flow (D) Turbulent flow 
 ÷»ªÚº Kmh®  öPõ¢uÎ¨¦ Kmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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140. Hysteresis of an instrument affects its 
J¸ P¸Â°ß îìi›]ì Gß£x Auß ————— I¨ £õvUQÓx. 

(A) Resolution (B) Accuracy 

 wº©õÚ®  xÀ¼¯® 

(C) Repeatability (D) Zero stability 
 v¸®£ ö\´¯U Ti¯ ußø©  §ä¯ {ø»z ußø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

141. In Boiler water level gauge glass, water level is going up and down
means –––––––––– is the reason. 
öPõvP»ÛÀ AÍÄU Psnõi°À }º©mh® JÊ[PØÖ ÷©¾® RÊ® HÔ 
CÓ[QÚõÀ ————— Põμn® 

(A) Priming (B) Surging 

 ö£õ[SuÀ  E¯ºuÀ 

(C) Foaming (D) None of these 
 ~øμzuÀ  CøÁ Hx® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. The replacing time period of Fusible Plug in the Boiler is  
öPõvP»ÛÀ EÒÍ E¸S® Aøh¨¦ ©õØÖ® Põ»® Cøh÷ÁøÍ  

(A) 6 months (B) 12 months 

 6 ©õu[PÒ  12 ©õu[PÒ 

(C) 18 months (D) 24 months 
 18 ©õu[PÒ  24 ©õu[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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143. During hydraulic test the pressure to be with stand —————
hours. 
}μÊzu® ÷\õuøÚ°ß ÷£õx AÊzu® _©õº ———— ©o÷|μ® 
uõUS¤iUP ÷Ásk®. 

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

144. Before Firing Boiler Dumper should be  
öPõvP»ß C¯[SÁuØUS •ß£õP PuÄPøÍ  

(A) Fully Closed (B) Fully Open 

 •Êø©¯õP ‰k  •Êø©¯õP vÓ 

(C) Partially Closed  (D) Partially Open 
 £õv¯õP ‰k  £õv¯õP vÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. Hot startup of a boiler idle time period is ————— hours.   
öÁ¨£ C¯UP •øÓ°À öPõvP»Ûß C¯UP Põ» ©o ÷|μ® 

(A) 1 – 5 (B) 6 – 10 

(C) 11 – 15 (D) 16 – 20 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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146. In Warming up a Boiler the temperature is increased  
öPõvP»øÚ u¯õº£kzx® ÷£õx Auß öÁ¨£{ø» E¯ºÁõÚx 

(A) uniformly and gradually    
 J÷μ ©õv›¯õPÄ®, ^μõPÄ® C¸UP ÷Ásk®   

(B) first slowly and then rapidly 
 •u¼À ö©xÁõPÄ® ¤ßÚº ÂøμÁõPÄ® C¸UP ÷Ásk® 

(C) first rapidly and then slowly   
 •u¼À ÂøμÁõPÄ® ¤ßÚº ö©xÁõPÄ® C¸UP ÷Ásk®  

(D) sudden raise  
 vjöμÚ E¯ºÁõPÄ® C¸UP ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

147. After completion of test the pressure drop rate should not be more
than —————KSC/minute. 
÷\õuøÚ •i¢u ¤ÓS AÊzu® ÃÌa] ÂQu® CuØS® AvP©õP C¸UPU 
Thõx 

(A) 3 (B) 1 

(C) 2 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. Hydro test must be carried out ————— time the maximum 
working pressure. 
AvP£m\ ÷Áø» AÊzuzvÀ }º ÷\õuøÚ ———— •øÓPÐUS 
÷©ØöPõÒÍ¨£h ÷Ásk®. 

(A) 2  (B) 1.5 

(C) 2.5 (D) 3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. The device used to control the flow of air or gases is  
PõØÖ AÀ»x Áõ²UPÎß Kmhzøu Pmk¨£kzu £¯ß£k® \õuÚ® 

(A) Dry pipe separator  (B) Carry over 

 E»º SÇõ´ ¤›¨£õß  Gkzx ö\À¾uÀ 

(C) Baffles (D) Damper 
 uk¨¦PÒ  PuÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. The chloride value of DM water is  
ö©ßø©¯õÚ }›ß S÷Íõøμk AÍÄ 

(A) 1 ppm (B) 2 ppm 

(C) 5 ppm (D) 0 ppm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

151. Proper sizing of steam pipe line helping in minimizing 
}μõÂ SÇõø¯ \›¯õÚ AÍÄ ÷uº¢öuk¨£uß ‰»® Gx SøÓ¯ 
EuÄQÓx? 

(A) Steam requirement  (B) Pressure drop 

 }μõÂß ÷uøÁ  AÊzu® ÃÌa] 

(C) Temperature drop (D) Boiler efficiency  
 öÁ¨£{ø» ÃÌa]  öPõvP»ß vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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152. Boiler stays are used to  
öPõvP»ß ì÷h GuØPõP E£÷¯õP¨£kzu¨£kQÓx? 

(A) Prevent flat surfaces under pressure from tearing apart   

 AÊzu® Põμn©õP QÈ¢x umøh¯õP ©õÖÁøu uÂº¨£uØPõP  

(B) Take care of failure in shear  
 öÁmk HØ£kÁøu uÂº¨£uØPõP 

(C) Take care of failure in compression   
 _¸UP® Põμn©õP ÷uõÀÂ HØ£kÁøu uÂº¨£uØPõP  

(D) Provide support for boiler  
 öPõvP»ÝUS BuμÁõP C¸¨£uØPõP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. The ratio of heat utilised to produce steam and the heat liberated in
furnace is known as  
}μõÂø¯ EshõUP £¯ß£kzu¨£k® öÁ¨£® ©ØÖ® Eø»°À C¸¢x 
öÁÎ÷¯ØÓ¨£k® öÁ¨£® BQ¯ CμskUS® EÒÍ ÂQu® 

(A) Boiler evaporative capacity   

 öPõvP»ß BÂ¯õuÀ vÓß  

(B) Factor of evaporation 
 BÂ¯õuÀ Põμo 

(C) Equivalent evaporation  
 \©©õÚ BÂ¯õuÀ   

(D) Boiler efficiency  
 öPõvP»ß vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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154. The fuel needs maximum amount of excess air for complete
combustion  
G¢u G›ö£õ¸Ò •Êø©¯õP G›ÁuØS AvP£i¯õÚ PõØøÓ GkzxU 
öPõÒÐ® 

(A) Furnace oil (B) Natural gas 

 Eø» Gsøn  C¯ØøP G›Áõ² 

(C) Pulverised coal (D) Wood  
 yÍõUP¨£mh {»UP›  ©μ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. To increase the heat transfer capability in a fire tube boiler by 
increasing 
w SÇõ´ öPõvP»Ûß öÁ¨£ £›©õØÓ vÓøÚ AvP›UP Gøu AvP›UP 
ö\´¯ ÷Ásk®? 

(A) Diameter of tubes  

 SÇõ´°ß Âmh®   

(B) Number of tube passes  
 SÇõ´ Ph¢x ö\ÀQÓ GsoUøP 

(C) Thinner-walled tubes  
 ö©À¼¯ _Áº SÇõ´  

(D) Boiler feed water temperature  
 öPõvP»ÝUSÒ ö\À¾® usp›ß öÁ¨£®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. Incomplete combustion can be best judged by 
•Êø©¯ØÔ G›¨ø£ GÆÁõÖ PshÔÁx? 

(A) smoky chimney exit 
 ¦øP÷£õUQ°À AvP ¦øP öÁÎ÷¯ÖÁx 

(B) Excess air in flue gas 
 L¨ÑÁõ²ÂÀ AvP PõØÖ EÒÍ ö£õÊx 

(C) measuring carbon mono-oxide in flue gas 
 L¨ÑÁõ²ÂÀ Põº£ß ÷©õÚõUø\k AÍøÁ AÍÂkÁuõÀ 

(D) measuring temperature of flue gas at exit of furnace 
 L¨ÑÁõ²Âß öÁ¨£{ø»ø¯ AÍÂkÁuõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. One Kilowatt - hour energy is equivalent to 
J¸ Q÷»õÁõm ©o ÷|μ® BØÓÀ GuØS \©©õÚx? 

(A) 1000 J (B) 360 kJ 

 1000 áúÀ  360 Q÷»õ áúÀ 

(C) 3600 kJ (D) 3600 kW/sec 
 3600 Q÷»õ áúÀ  3600 Q÷»õÁõm/ÂÚõi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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158. One kg of steam contains 0.4 kg of water vapour. It’s dryness
fraction is 
J¸ Q÷»õ }μõÂ°À (steam) 0.4 Q÷»õ }μõÂ (water vapour) C¸US®. 
Cuß ÁÓm] ¤ßÚ® GÆÁÍÁõP C¸US®? 

(A) 0.4 (B) 0.6 

(C) 0.4 / 0.6 (D) 0.4 × 0.6 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

159. To avoid condensation loss in steam 
}μõÂ uspμõP ©õÖ® CÇ¨ø£ uÂºUP 

(A) steam is heated to saturation temperature 
 §›u öÁ¨£{ø»US }μõÂø¯ öÁ¨££kzxÁx 

(B) wet steam is used 
 Dμ©õÚ }μõÂø¯ £¯ß£kzxÁx 

(C) steam pressure is increased 
 }μõÂ°ß AÊzuzøu AvP£kzxÁx 

(D) super heated steam is used 
 `hõUP¨£mh }μõÂø¯ £¯ß£kzxÁx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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160. Gradually increasing temperature of flue gases at inlet to chimney
from given steam outputs is an indication of 
öÁÎ÷¯Ö® }μõÂø¯ {ø»¯õP C¸UP, £i£i¯õP L¦Ð Áõ²Âß 
öÁ¨£{ø» AvP©õÁx GßÚ AÔSÔ? 

(A) Higher effectiveness of Boiler 
 öPõvP»Ûß E¯º ö\¯ÀvÓß 

(B) High calorific value of fuel being burnt 
 E¯º P÷»õ›U ©v¨¦ G›ö£õ¸øÍ G›¨£uÚõÀ 

(C) Fouling of heat transfer surfaces 
 öÁ¨£ £›©õØÓ £Sv°À, PøÓ£iuÀ 

(D) Raising of steam temperature 
 }μõÂ°ß öÁ¨£{ø»ø¯ E¯ºzxÁuõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

161. Regenerators utilizing waste heat are widely used in 
ÃnõS® öÁ¨£zøu £¯ß£kzx® «Ð¸ÁõUQ AvP©õP £¯ß£k® Ch® 

(A) cement industry (B) pulp and paper 

 ]ö©sm öuõÈØ\õø»  TÌ ©ØÖ® PõQu öuõÈØ\õø»

(C) glass melting furnaces (D) aluminium industry 
 Psnõi E¸US® Eø»PÒ  A¾ªÛ¯z öuõÈØ\õø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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162. For every 22°C reduction in flue gas temperature by passing
through an economiser —————— saving of fuel in boiler. 
J¸ ]UPÚUP»Ûß ÁÈ¯õP¨ £õ²® AÚÀ Áõ²Âß öÁ¨£{ø» JÆöÁõ¸ 

•øÓ 22° ö\À]¯ì SøÓ²® ÷£õx öPõvP»ÛÀ G›ö£õ¸Ò ÷\ªUS® 
\uÃu® Gß£x 

(A) 1% (B) 2% 

(C) 5% (D) 10% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. Pressurised FBC system mainly used in —————— industries. 
AÊzu ÁøP FBC Aø©¨¦ ö£õxÁõP CÆÁøP¯õÚ öuõÈØ\õø»PÎÀ 
£¯ß£kQÓx. 

(A) Chemical (B) Electro-Mechanical 

 Cμ\õ¯n®  ªßÚq C¯¢vμÂ¯À 

(C) Electronics (D) Electrical power 
 ªßÚqÂ¯À  ªß\õμ \Uv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

164. —————— can be provided to utilize the flue gas heat for
preheating the boiler feed water. 
öPõvP»ß Fmh }øμ •ßTmi÷¯ `hõUPz ÷uøÁ¯õÚ AÚÀ PõØøÓ 
ÁÇ[SÁuØS Cx £¯ß£kQÓx. 

(A) Evaporator (B) Economiser 

 BÂ¯õUQ  ]UPÚU P»ß 

(C) Condenser (D) Compressor 
 }μõÂ JkUQ  AÊzuP»ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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165. The number of equipments used in the burner 
Gsön´ G›US® Ch[PÎÀ £¯ß£kzu¨£k® \õuÚ[PÎß GsoUøP 

(A) 3 (B) 4 

(C) 5 (D) 1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. The heat pipe heat recovery systems are capable of operating at
315°C with —————— heat recovery capability. 
315° ö\À]¯ì öÁ¨£{ø»US EP¢u öÁ¨£ SÇõ´ öÁ¨£ «m¦ 
Aø©¨¤ß öÁ¨£ «m¦U vÓß AÍÂÀ C¸UP ÷Ásk®. 

(A) 20% to 30% (B) 30% to 40% 

 20% •uÀ 30% Áøμ  30% •uÀ 40% Áøμ 

(C) 10% to 50% (D) 60% to 80% 
 10% •uÀ 50% Áøμ  60% •uÀ 80% Áøμ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Travelling chain grate stoker boiler operating condition 
Travelling chain grate ì÷hõUPº boiler C¯[S® {ø» 

(A) Sprocket wheel moving 
 ì¤μõUöPm \UPμ C¯UP® 

(B) Chain with conveyor-grate moving 
 \[Q¼, Pß÷Á¯º, G›£køP |PºÁx 

(C) Bed with airbox-moving 
 G›£køP ©ØÖ® PõØÖ ö£mi |PºÁx 

(D) Chain with conveyor, fuel in grate moving 
 \[Q¼ Ps÷Á¯º G›£køP ©ØÖ® G›ö£õ¸Ò |PºÁx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. The quality of heat is gaseous and liquid effluents leaving process is
Áõ² ©ØÖ® vμÁU PÈÄPÎÀ öÁ¨£zvß uμ® öÁÎ÷¯Ö® ö\¯À•øÓ 
Gß£x 

(A) high grade (B) poor 

 E¯º uμ®  ÷©õ\©õÚx 

(C) low grade (D) medium grade 
 SøÓ¢u uμ®  |k{ø» uμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. Economizer in boiler is used to extract heat from flue gases for
pre heating. 
Economizer & öPõvP»ÛÀ GuÝøh¯ – öÁ¨£zøu AvP›UP 
{ÖÁ¨£mkÒÍx? 

(A) Feed water  

 ö\¾zx }º  

(B) Blow down 
 öÁÎ÷¯ØÖ }º 

(C) Fuel oil  
 G›ö£õ¸Ò Gsön´  

(D) Air for combustion of fuel 
 G›ö£õ¸Ò ÷uøÁ¯õÚ PõØÖ G›ÁuØUS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

170. During the operation of petrol defining the gas will be 
ö£m÷μõ¼¯® GkUS® ÷£õx QøhUS® Áõ² Gß£x 

(A) Ozone gas (B) Helium gas 

 K÷\õß Áõ²  ï¼¯® Áõ² 

(C) Natural gas (D) None of these 
 C¯ØøP Áõ²  CøÁ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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171. The heart of the Lamont Boiler is 
Lamont öPõvP»ÛÀ Cu¯® Gß£x 

(A) Water Drum (B) Centrifugal pump 

 uspº öPõ¨£øμ  ø©¯ Â»US £®¦ 

(C) Furnace (D) Blow down 
 Ak¨¦  }º öÁÎ÷¯ØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. The maximum Capacity of Bensor boiler is 
ö£ß\º öPõvP»Ûß AvP£m\ öPõÒÍÄ Gß£x 

(A) 180 tonnes/hr and above  

 180 hß /©o ©ØÖ® AuØS ÷©¾®  

(B) 135 tonnes/hr and above 
 135 hß /©o ©ØÖ® AuØS ÷©¾® 

(C) 250 tonnes/hr and above  
 250 hß /©o ©ØÖ® AuØS ÷©¾®  

(D) 300 tonnes/hr and above 
 300 hß /©o ©ØÖ® AuØS ÷©¾® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. Size of boiler tubes is specified by its 
öPõvP»ß SÇõ´PÎß AÍÄ Gß£x CÆÁõÖ SÔ¨¤h¨£kQÓx? 

(A) Mean diameter and thickness  

 \μõ\› Âmh® ©ØÖ® ui©ß  

(B) Inside diameter and thickness  
 EÒ¦Ó Âmh® ©ØÖ® ui©ß 

(C) Outside diameter and thickness   
 öÁÎ¨¦Ó Âmh® ©ØÖ® ui©ß  

(D) Outside diameter alone 
 öÁÎ¨¦Ó Âmh® ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. The Biggest size of thermal power plant operating in India is  
C¢v¯õÂÀ C¯[QU öPõsi¸US® ªP¨ö£›¯ AÚÀ ªß {ø»¯zvß 
AÍÄ 

(A) 100 MW (B) 210 MW 

 100 ö©PõÁõm  210 ö©PõÁõm 

(C) 350 MW (D) 500 MW 
 350 ö©PõÁõm  500 ö©PõÁõm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. The Diameter of Cornish Boiler is of the order of 
PõºÛì öPõvP»Ûß Âmh® C¢u Á›ø\°À C¸US® 

(A) 1 – 2 m (B) 1.5 – 2.5 m 

 1 – 2 «mhº  1.5 – 2.5 «mhº 

(C) 2 – 3 m (D) 2.5 – 3.5 m 
 2 – 3 «mhº  2.5 – 3.5 «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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176. The function of Injector used in small capacity of Boiler is to 
öPõvP»ÛÀ Emö\¾zv°ß £¯ß£õk Gß£x 

(A) Create vacuum  

 öÁØÔhzøu E¸ÁõUP  

(B) Inject chemical  solution in feed pump 
 ö\¾zx £®¤À Cμ\õ¯Ú P»øÁø¯ Emö\¾zxÁuØS 

(C) Pump water, similar to boiler feed  pump 
 öPõvP»ß ö\¾zx £®¤øÚ¨ ÷£õß÷Ó uspøμ ö\¾zvh  

(D) None of these 
 ÷©ØPshÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. A Boiler in India should confirm to safety regulation of 
C¢v¯õÂÀ öPõvP»ß £õxPõ¨¦ JÊ[S •øÓø¯ ö\¯À£kzx® 
Aø©¨¦ 

(A) IBS (B) IBR 

(C) ASTM (D) DIN 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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178. Cochran Boiler is a 
÷PõUμõß öPõvP»ß Gß£x 

(A) Horizontal Fire Tube Boiler  

 Qøh©mh AÚØSÇõ´ öPõvP»ß  

(B) Horizontal Water Tube Boiler 
 Qøh©mh }ºUSÇõ´ öPõvP»ß 

(C) Vertical Water Tube Boiler  
 ö\[Szx }ºUSÇõ´ öPõvP»ß  

(D) Vertical Fire Tube Boiler 
 ö\[Szx AÚØSÇõ´ öPõvP»ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

179. Boiler is also called as 
öPõvP»ß Gß£x C¨£i²® AøÇUP¨£k® 

(i) Steam generator 
 }μõÂ ªßÛ¯ØÔ 
(ii) Steam condensor 
 }μõÂ ªß÷uUQ 
(iii) Heat exchanger 
 }μõÂ öÁ¨£ £›©õØÔ 

(A) (i) only (B) (i) and (iii) only 

 (i) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only (D) (ii) and (iii) only 
 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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180. In the term of boiler ASME stands for 
öPõvP»ÛÀ ASME Gß£uß Â›ÁõUP® 

(A) Armanian  Society of Mechanical Engineers  

(B) African Society of Mechanical Engineers  

(C) American Society of Mechanical Engineers  

(D) Asian Society of Mechanical Engineers  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

181. Suitable boiler feed water pump is 
öPõvP»ÛÀ }÷μØÖÁuØS ö£õ¸zu©õÚ £®¨ 

(A) Single stage (B) Multi stage 

 J¸ {ø»  £» {ø» 

(C) Both (A) and (B) (D) None of these 
 (A) ©ØÖ® (B) Cμsk® P»¢uøÁ  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. In steam separator condensate water passing collection in 
}μõÂ ¤›¨£õoÀ BÂ }º G[S ÷\P›UP¨£k®? 

(A) Bottom (B) Outside 

 R÷Ç  öÁÎ÷¯ 

(C) Both (A) and (B) (D) None of these 
 \©©õP (A) ©ØÖ® (B)  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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183. Maximum percentage of ASH in coat 
{»UP›°À EÒÍ AvP£m\ \õ®£¼ß \uÃu® 

(A) 0 to 5% (B) 50 to 60% 

(C) 20 to 50% (D) 60 to 70% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. Requirement of steam trap is  
}μõÂ¨ ö£õÔPÎß AÁ]¯® Gß£x 

(A) To stop steam (B) To reheat steam 

 }μõÂø¯ ukUP  }μõÂø¯ ©Ö `hõUP 

(C) To reduce steam flow (D) To avoid water hammer 
 }μõÂø¯ Kmhzøu SøÓUP  uspº Ci¨¦ uÂºUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

185. The function of ball float trap is 
ªuøÁ¨ £¢x }μõÂ¨ö£õÔ°ß C¯UP® Gß£x 

(A) While ball rise down (B) While ball rise middle 

 £¢x RÌ Á¢uÄhß  £¢x |k {ø»°À Á¢uÄhß 

(C) While ball rise up (D) None of these 
 £¢x E¯º¢uÄhß  CvÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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186. The type of blower used in Ash removing system 
\õ®£À APØÖ® Aø©¨¤À £¯ß£kzu¨£k® ¦øPU P› APØÔ 

(A) Soot blower (B) Compressor 

 `m ¦÷Íõ¯º  P®¤μåº 

(C) Vacuum cleaner (D) None of these 
 ÷ÁUP® QÏÚº  CÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

187. Match the following  : 
\›¯õP ö£õ¸zuÄ® : 

In coal burned boilers the steam pressure required to remove the
Ash will be  
{»UP› G›US® öPõvP»ßPÎÀ ¦øPUP› APØÓ® ö\´²® ÷£õx 
÷uøÁ¨£k® }μõÂ°ß AÊzu® CÆÁõÖ C¸UP ÷Ásk®. 
(a) Pulverised coal 1. 8 – 10 Bar 
 £ÀÁøμìk {»UP›  8 – 10 £õº 
(b) Spreader stoker 2. 10 Bar 
 ì¤μhº ì÷hõUPº  10 £õº 
(c) Underfeed stoker 3. 5 – 7 Bar 
 Aßhº¥k ì÷hõUPº  5 – 7 £õº 
(d) Soot blower 4. 6 – 7 Bar 
 `m ¦÷Íõ¯º  6 – 7 £õº 

 (a) (b) (c) (d) 
(A) 3 4 1 2    
(B) 2 4 1 3     
(C) 4 2 1 3    
(D) 1 4 3 2    
(E) Answer not known 
      Âøh öu›¯ÂÀø» 
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188. Forced draught system is called  
Ãø\U PõØ÷Óõmh Aø©¨ø£ —————— BP TÖÁº. 

(A) Balanced draught (B) Positive draught 

 \©{ø»U PõØ÷Óõmh®  ÷|º©øÓU PõØ÷Óõmh® 

(C) Negative draught (D) Zero draught 
 Gvº©øÓU PõØ÷Óõmh®  §ä¯ PõØ÷Óõmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

189. In F.D. fan the F.D stands for 
F.D fan&À F.D Gß£x CuøÚU SÔUQÓx. 

(A) Fin Draft (B) Forced Draft 

 xk¨¦ PõØ÷Óõmh®  Âø\ PõØ÷Óõmh® 

(C) Focal Draft (D) Fine Draft 
 SÂ¯ PõØ÷Óõmh®  ~s PõØ÷Óõmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. In Boiler fan system the P.A.F stands for 
öPõvP»ß PõØ÷Óõmh Aø©¨¤À P.A.F Gß£uß Aºzu® 

(A) Pre Air Fan (B) Preventive Air Fan 

 •ß PõØÖ Â]Ô  •ß uk¨¦ PõØÖ Â]Ô 

(C) Preserve Air Fan (D) Primary Air Fan 
 £õxPõzuÀ PõØÖ Â]Ô  •ußø© PõØÖ Â]Ô 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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191. The function of FD Fan in Boiler is 
öPõvP»ÛÀ FD Fan ö\¯À£õkPÒ Gß£x 

(A) To provide combustion air for Boiler  
 G›ÁuØS ÷uøÁ¯õÚ PõØÔøÚ öPõvP»ÛÀ ö\¾zu ÷Ásk® 

(B) To provide conduction air for Boiler 

 öPõvP»ÛÀ PõØøÓ PhzxÁuØS £¯ß£kQÓx 

(C) To provide compression air for Boiler 
 AÊzu¨£mh PõØÖ öPõvP»ÛÀ ö\¾zu 

(D) None of the above 
 CÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

192. Steam separators mainly classified into —————— types. 
}μõÂ ¤›US® P¸ÂPÒ GzuøÚ ÁøP¯õP¨ ¤›UP¨£kQÓx? 

(A) 3 (B) 6 

(C) 4 (D) 5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. The expansion traps working based on 
Â›Áøh²® ö£õÔ ö£õxÁõP CuÚi¨£øh°À C¯[SQÓx. 

(A) Change in Time  (B) Change in Pressure 

 ©õÖ® Põ»®  ©õÖ® AÊzu® 

(C) Change in Temperature (D) None of these 
 ©õÖ® öÁ¨£{ø»  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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194. An Economiser in a Boiler 
öPõvP»ÛÀ ]UPÚUP»zvß ÷uøÁ 

(A) Increases steam pressure  
 }μõÂ AÊzuzøu AvP›UQÓx 

(B) Increases life of Boiler 

 öPõvP»Ûß B²øÍ AvP›UQÓx 

(C) Increases steam flow  
 }μõÂ¨ ÷£õUQøÚ AvP›UQÓx 

(D) Decreases fuel consumption 
 G›ö£õ¸Ò ~PºÂøÚU SøÓUQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

195. Reason for super heater tubes burst 
ªS öÁ¨£ HØÔUSÇõ´ öÁizuÀ 

(A) Required steam is not passing  
 ÷uøÁ¯õÚ }μõÂ ö\À»õu PõμnzuõÀ 

(B) Required steam is passing 

 ÷uøÁ¯õÚ }μõÂ ö\ÀÁuõÀ 

(C) Water is passing  
 uspº ö\ÀÁuõÀ 

(D) None of these 
 CÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. Reason for super heated steam suddenly high 
ªS E»º}μõÂ öÁ¨£{ø» vjöμÚ E¯μU Põμn[PÒ 

(A) Low breather air  
 ªPU SøÓÁõÚ E£›U PõØÖ 

(B) Low temperature of water 

 ªPU SøÓ¢u uspº öÁ¨£{ø» 

(C) Primary combustion  
 •uÀ {ø» G›uÀ 

(D) Correct functions of temperature gauges 
 öÁ¨£{ø»ø¯ Enºzx® P¸ÂPÎß \›¯õÚ C¯UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. In coal burned boiler if the percentage of sulphur is 1% the flue gas
temperature will be 
{»UP› G›US® öPõvP»ßPÎÀ G›ö£õ¸ÎÀ 1% P¢uP® C¸¢uõÀ Auß 
PÎöÁ› Áõ²UPÎß öÁ¨£{ø» AÍÄ 

(A) 155º – 165ºC (B) 145º – 155ºC  

(C) 175º – 185ºC  (D) 185º – 195ºC 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. The diameter of the economiser pipe will be  
]UPÚU P»Ûß SÇõ´ AÍÄ 

(A) 10 to 20 mm (B) 20 to 30 mm 

 10 mm •uÀ 20 mm Áøμ  20 mm •uÀ 30 mm Áøμ 

(C) 40 to 50 mm (D) 50 to 60 mm 
 40 mm •uÀ 50 mm Áøμ  50 mm •uÀ 60 mm Áøμ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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199. Generally air pre heater classified into —————— types. 
PõØÖ öÁ¨£ P»ß GzuøÚ ÁøP¨£k®? 

(A) 4 (B) 5 

(C) 3 (D) 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. The necessity of safety valve in economiser 
]UPÚU P»zvÀ Põ¨¦ ÁõÀÄ ÷uøÁ¯õ? 

(A) Not necessity (B) Necessity 

 ÷uøÁ°Àø»  ÷uøÁ 

(C) Both (A) and (B) (D) None of these 
 (A) ©ØÖ® (B)°À EÒÍÁõÖ  CøÁ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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